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It is entirely according to 1799 529 — N7 11991 939 779D

OVERVIEW

The xm3 previously' cited a npYomn between T1v9X "1 X701 27 whether there is a
THMWT I¥N2 W 211 (7'"), or not (X'").

Ao 20 previously2 cited a Xn»"72 which states that Jw is PoMWw: %72 21, The X3
there established this Xn*92 in a case where both partners had m79% mwa and
neither had o> mw? mwA.

X1 " asked (on this ¥nn°PIX) how can there be a 21’11 of jw; since both partners
have m°9% nw, it is not X 77w, To which *»ax replied that since there is no nmwA
WY it is considered a TR 77w (to the MW Hy3).

The X723 there discusses the options whether we can reconcile the differences
between 1"7 and X"7 (that they do not disagree, but rather are discussing two
different cases),” or that they argue in the same case as the Xn13, where X"
follows the view of (the Xwp of) 17 [it is not a IR 77W and therefore 1w is MWo],
and X701 27 follows (the XP17°9 of) 2R [that since there is no 2 MWY MW it is a
iR 772]. There 1s no conclusion there in the X2na.

1Y9XR " in our X3 maintains that the entire “mwn is according to v" and we are
discussing a specific case (where it is 121 N1°9% XY 7M1). MdoIN will argue that
according to the understanding of the case of v"7 we will be able to resolve
whether X"71 11"9 are arguing or not.

= ©29YY NI NTH XYY 79D 111 THNRD NN 19209) 55103 9N
Here too our text reads; it is specified for (the use of) one of them for produce
but for (the use of) neither of them concerning oxen. One of the partners has
permission to place his produce there. Neither of them has mwA for their oxen to be there.
Therefore if one of the oxen ate the NM17°d of the partner who had permission to keep his n17°0 in
the 7xm, it is P1°37 MWN2 @ and he is 2»1. Similarly if either ox gored the other in the 7 it is as
if it was gored 1";712 (since neither has M to be there) and is 21 a 1"1.°

Pan.

IR,

3 "1 is discussing where it is 2 M@Y NI PRI aTIWY M9 N7 (and W is 2°0) and X" is discussing where it
is DMWY aX n7MR (and W is MWD since it is not X ATW). See RN 77 K, 70w,

‘We initially inferred from the Xw>1 (where it stated 7% *1X777 DX 219R? N7¥ 1wi) that 1P pays a p1°37 w2 1"n, and
in contrast we inferred from the X9°0 (where it stated 1217 MW" Po1a W) that 1P pays a P17 nwna w'.

3 See Xv 11"7 X,7> MdOIN where MdOIN is 01 there as he is here (different than our X07%).

% However if the case would be like our X073 that 2Mw% 7191 7779, then why is there a 2 on the N7 since it is not
21717 %, for the p°ia has MW" that his ox should be there. See n1901n there.
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Mmoo asks:
- 7‘11\9Q M99 0NNV NN YNRUNT AN
It is astounding! For it seems from our X723 that if both had permission to place

their produce in the 731, the 1 would be N> -
- 55Nt NPI9993) NTIT 5397 NOWIDA 919997 XINM VIVOLN )9 ON)

And if this is so (that X" maintains 1w is 79 by a 2¥n which is 2> nIrn
mM°9% and not 2°MWY), then we can resolve from here that X701 27 919X ' are

arguing in the question of 1''9 and the refutation of 2N -
- PDOYDN VYN (x,1 41 IIY

And previously the 89723 was doubtful whether there is a np172n2 between X" 1" (based
on the »aRT X210 1'"77 XWIp), or not.” There should be no doubt; for there definitely is a npyomn.

mooIn continues with this difficulty according to the other X073 as well:
= NIOIN NIWP DIV NI NY Y097 0299919

And according to those text that read ‘both of them have permission for their

oxen’ to be in the 7xr, the difficulty is in the opposite manner -
= M9%95 0%V NTININA Y XYY VIVIINT

That we can resolve from here that X"71 11"7 do not disagree where it is n7m»

NY°5% 2I°IWwY and they both maintain that W is 21 -
- 9w 0w NINY PIMY MY YWIY 39 5Y GR P10 I8N 1Y YN

For if X"7 considers it a P17 9317 even when the 1% has permission to leave

his ox there (which is the case of "1 [as long as only one has M7°5% mw), then -
- D1 YA 2PUN Y99 DIINYY NN PRT NP 19V Y3

Where it is not set aside for oxen at all, it is certainly considered a 23 P17 -
: 119999 MN%IYY NTN1NIRY % YY N

even though they both have permission for n1935. Again the question is, there should

" If the rule would be that (even) by m°o? o the P would be 2>n, then the X713 should have established the
TIwn in a case where DMWY 7191 AT X921 M0Y oaw (for it is a greater wTM).

¥ See [Overview, and] the &°310 previously on X,7°1 2,3 A7.

? See footnote # 3. The question there was whether X"9 says his 17 (that j@ is P5MW:I %72 WD) only in a case where
it is @MW Mvo? o7 n7nva (and if it is only D MWL X7 Mvoh Nk he agrees with 1" that yw is 2°1) or does
he maintain (177 X°wp2) that even if it is 2 MW? ®7 M0 n7M» nevertheless 1w is Mwo. Here however the same
X7 maintains that if it is MWL X2 MP0% 07w NIAPA there is no W 2vn (as Moo just proved). It is therefore
evident that X" argues with "7 in a case of 2™ MWH X M7 N7MNA.

12 We are now following the X073 of 2w 77191 711%; they both have permission for their oxen to be there.

" mooin is of the opinion that the status of being considered a pra7 131 depends more on whether the 171 727 has
no M to be there, than whether the p°1 has permission to place his N171°0 there. Therefore if when the 1 has nw
for his P W to be there, and nevertheless it is considered P17 2xm, then certainly if the P17 7w had no
permission to be there, that it is considered 127 71 even though the > can keep his nm17°s there. See X"wAnn. See
‘Thinking it over’.
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be no poo; for X"M n1"1 do not argue (according to this X07°3). N1vOIN does not answer these
questions.'

SUMMARY

It would seem that according to the X3 here we should be able to resolve the
doubt mentioned previously whether &"71 11"9 disagree concerning 1omwn 7¥r. The
criterion of P17 7% depends primarily whether the p°177 927 had permission to be
there (but not whether the P> has permission to utilize it).

THINKING IT OVER

Moo maintains'® that a 1%¥n which is MY o> Tn and not DMWY is
considered more a 1177 7817 than a 2 MW? 2w MDY T2 TR T80, Seemingly
we can argue the opposite; that a m7°9% 1% 0117 7380 is the exclusive domain of
the pri1 (the m 071 H¥2) for the P1°17 127. However by m 0% omawh nrn it is not
P11 73 exclusively (for the m7°® which were damaged). What is the underlying
logic of maoin view?"

2 See "1 Moo who answers that (perhaps) X" said this (only) in the name of 2.
1 See footnote # 11.
' See XM 7"72 MpN MR 1" .
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